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The figures in the margin indicate full marks
Jfor the questions

1. Answer the following questions (any ten) :
1x10=10

O APERT Oed fil (R ol web)
fa) What is the problém of ‘choice’?
ST TP 57

(b) Distinguish between a firm and an
industry.

qb! AfSBI i GBI Swled WS sty ey
41 |

(¢) Mention one feature of capitalism.

Aferina gt TaRiEy Sy |

(d) State one feature of economic goods.

et ANATR bl @RFEy SE 9 |
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(e)

(g)

()

)

1}

(k)

@

(m)

(n)

(o)
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What is cross demand?

fote oifemt 2

Write the demand function.

BifRwl et vt |

What are complementary goods?
AT AN 59

Draw the demand curve of Giffen goods.

foicps AR BifEniEt ww 4 |

What is the shape of perfectly inelastic
supply curve?

Fopf wfEfogiR Q@eEE S &9
What is producers’ surplus?
SRAMEAIZS ©F8 57

Define opportunity sets.

e 2o kel frt |

What is income consumption curve?
R Gereta @4 62

Mention the concept of market demand.,

IS BifRAE LR S 4 |

Distinguish between stock and supply.
TGS SIF @ele oS+ g a1

Define imperfect competition.

s afemifiren et

( Continued )

— 2 .

A e e

(3 )

(p) What is derived demand?

Tgo i 57

(q) State one character of labour market.

*Yq IS99 96! fFEy SEy 4|

() What is meant by property rights?
T=oifeq Fg2 & @7

2. Answer the following questions in short
(any five) : ; 2x5=10
wo enpTRd oY Bed firl ([ Gl #Aiob)

(a) Distinguish between positive economics
and normative economics.

Sfeape SdAfs wie Srefre ST TS
stz e <4t

(b) What is economic problem?

weftfes Tem 52

() Write any two features of basic
competitive model.

(e afewifemre wits R e oo
ey |

(d) Why is the cross elasticity of demand
for substitute goods always positive and
negative for complementary goods?

siftwe fode Rfegres 0 i [Res ed
cFge NE 9F CRYEE Al cFae
eI =7
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(e)

(9)

(h

(i)

0)

A23/447

(L& )

If price elasticity of demand for milk is
equal to unity (=1) and if at the price
of ¥40 per litre a household demands
40 litres milk, then how much milk

will be demanded at the price of ¥60
per litre?

wnﬁﬁﬁaﬁmmmzxowm
9B AR 40 iR NI oI =, o
afe FoR 1w v 60 B TE N9
BifRAtS A fesir 299

Why do two indifference curves not
intersect each other?

o fqers @3z Ry e @7 TEY?

Why is the supply curve of labour
upward sloping?

TN @I @9l e St =9

Distinguish between fixed and variable
costs,

ﬁﬁ‘wﬁzﬂﬁﬁémﬁﬁrqma-m%¢1ﬁvm'¢m|

Mention two government policies to
enhance competition in the market.

Tae aforirel 5 TR« 551 seR) S
S 9

Why do input demand curves shift
the left? p 2

@qﬁﬂqﬁxﬁ&ﬁrc&mf%q:mémnﬂ'gﬁmﬁie 277

( Continued )

3. Answer the following questions (any four) :

S5x4=20

oY ANEET Oed fral (R @il BifEst) ¢

(@)

(b)

{c)

(d

(e)

A23/447

What is price rationing? Explain the
impact of price rationing on the market.

1+4=5
v eredd 69 79 TSR @FEME TIE
e/e ool [RE[ @, IR T4

How does the profit motive drive the
market system? Discuss. 5

Ao TR ETE JER I9EE AAfRbife
FE? S P4 |

Explain the characteristics of a mixed
economy. S

fipr Sefifes wREpRR i 9

What is price mechanism? How does
price mechanism allocate resources?

1+4=5
7 i 5?2 W efER @EmE e
o9 @2

What is budget line? How do changes
in income and prices affect the budget
line? Use diagrams. 1+2+2=5
G @ 527 AR WA T AR @
MG @2 eelfas F? o ez |
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() Show that a monopolist always operates (b) How is efficiency of market linked with

on the elastic part of the demand curve. producers’ and consumers’ surplus?
Why? 3+2=5 - Explain. 10

R @ TR FPIR G S @ SIS TF8 WF (S[GI T9ed F5e T
Rafomioi SRS el T | PR 9 RO ¢ TTE AR [ w4 |

(g) Establish the relationship between | (¢)  Explain the various factors determining
average cost and marginal cost. Why individual and market demand. 10
does MC curve cut AC curve from JfeTe S W T@E ik [BEIRR2IEE
below? 3+2=5 I
519 T A AP JEE Jer© F=AE Fei 4| ‘

ST TW @R T IJ§ QAT Ry wed o[l (d) What is substitution effect? Explain the
i concept of substitution effect with the
¢ help of Hicksian and Slutsky method.
(h) Explain the various factors determining 1+5+4=10
5 afes et 52 st oI =50 1wfeq s

the demand for labour.

a i e w9 R[fen Remz o afos fRefies 1At <ot 541 1

hall (e) Explain the process of consumer’s
; ! optimum choice with the help of indif-
4. Answer the following questions (any foulr()) :4 s ference curve approach. 10
x4d=
A i Sed (R il i) GRS AGARNERIB B SRR 14
ARFRIT! I 4|

(a) What are the fundamental economic
problems of an economy? How can
various economic problems be explained
through the use of production possibility

() Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of long-

curve? 4+6=10 run average cost curve. 8+2=10
93 T4 ifeq Gifere Sdtfes TeprR 62 ZHPlae T W @I RITS I oiS
ffen wdtafos PP Seetrm RSl T @4 Sz 9| A T W
RIS RIS (T it i 11 ? U-Ipfed @1 FIPTR i |
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(8 )

(9) Explain the behaviour of a profit maxi-
mizing firm in the short-run. 10
ZIIE IS 43 S T ARODIT
o3 PG F7 |

(h) Discuss the rationale behind the
regulation of monopoly practices. What
role do antitrust policies play in
monopoly regulation? 7+3=10

FEOLA I FRge T4 Ifegers! Sl

TN oI P g E-REE
SARGIE & et oo

() Describe the various applications of
elasticity of demand in economics. 10

BRI G B (o et e Sp—
9 3541 |

() Explain how Wwages are determined in a
competitive labour market. 10

oo e qumre TGN @M
i =7, g w1

* & Kk
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